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2. Use expanded form to solve each problem.

A. 145 — 132
145 = + +
132 = + +
B. 95— 28
95 = + +
28 = + +
C. 74 — 46
74 = + +
46 = + +

3. Emily solved 119 — 57. Her answer was 62. She used
addition to check her subtraction.

62 (my answer) When | add my answer to the /f' ’ﬁ\

+ 57 (the number | took away) number | took away, | get the W'Wl‘j)
. number | started with, 119. Now YY)

119 (the number | started with) | know my answer is correct! &\" ¢
A

Show how to use addition like Emily to check the problem
in Question 2C.
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